% LAPPSET.
SPORT

Q15931

DATE: 28.10.2021

Copyright Lappset Group Ltd

905830

906736

PARTS
DET 27

DET 40,41

PARTS

DET 1,16

705018

906734

DET 37-39




% LAPPSET. Q15931

SPORT DATE:  28.10.2021 2(3)

1:25 1:28

I

> |
T |

1205

1205
1310

0

1
m
1]

(o)

‘ 1180 ‘
I |

Copyright Lappset Group Ltd

Area of Movement 14.8 m2
Training Space 1.4 m2

Max Falling Height 0 mm 1720

/

1650
3550

Hﬁ 1500

D

1500

1000
4720




% LAPPSET. Q15931

SPORT DATE: 28.10.2021

w)

(1) 706035 |P¢s|(2) 909500 |PC 980104 |pcs|(7) 980123 |°Cs

1] 4] 2| 16|
| miox20 | | @5x90 | |  @7x60 | |
(3 980114 |res|(4) 904450 |Pcs| 909256 [cs(i9) 906642 |pcs|
4] 8 16 10
9,
Y
24x20 M16x170 216,/8.4 250/45x20 | |

o
(9]
%2

@9 980129 [Pcs|(2) 705018 [Pes

)-\w\mm»

120x120x150 @5x35 120x120x1170

(6) 905780

o]
N
[>]

Copyright Lappset Group Ltd

(7) 906770 |pes|(8) 905830 [pcs| 22 906734 |pcs| 63 906736 |PCS
/ 4 2 2 2
\, <>
074/48x2 | | 123x123x40 | | 1226X386X60| | 30x30x3x920| |
(9) 906637 |Pcs|i0) 906596 |Pcs| ¢ 907560 |PCS| Ps|
i N E 2
O
2450 15kg | | 090/46-33 | | B
(2) 705542 Pcs|
2
2450 10kg - ]
(19 908976 |Pes|i4) 909628 |PCs
2] 16]
098/45x44 12|  wMiox100 | |
PCS PCS




% LAPPSET. BASE

Copyright 1998 Lappset Group Ltd

SPORT DATE: 8.12.2016 1(10)
J16 1 > 150
(O——1 7
% 120 Nm
I M16x170
= Sy
T go| O° @o"o defl e 9% d°go
o e} ° o O OO Od
© O o° © o ©Q ° 0 e 20 0% <o eo
‘ ° VK B an ° Oa O° ° Oa OD
SIS IXS TS TS TS TS TN 7SS T
905 /80 160 Concrete / Betoni K30
W/ x60
(980123)
M10
(905104) 216/8.4
(909256)
905/80
w\
W .
N e © 309628 @
02 Q
g? S| O w
xa: Ho:e: Haeg O Q
° - 905817 _~» '
M10x100 % 906014




% LAPPSET. BASE
SPORT DATE: 29.4.2015 2(10)

STEELNET @6 #150 ﬂ8;5~
(1400x2100) ~
Concrete

1500X2200X200 K30

E

E A ) T @’g}
//ﬂ//f//ﬂ//ﬂ//ﬂ//ﬁ//ﬁ//ﬂ//ﬂ //ﬂ//ﬂ///

Copyright 1998 Lappset Group Ltd

Esireika / Pre—drill hole.
10 J 90 -, 35 Nm

/E
<« M10x100
W
AV P\

\ _— \a/

o iRe} 02 o¢ 02 oo og o oo 02 02 02 o o©of of
e 0 T 0 O o Jhe o e o ot ot or ST o Y ogor o
5 5 o
02 o2 ° o° o' 0¢ o 02 oe 9% o2 oS
o T e e s e 5 os £ os
TN & K e S o o2 op os |or
° o o ° o ) ©°

\ Betoni / Concrete K30.

Safety surface

> 100




Copyright 1998 Lappset Group Ltd

% LAPPSET PARTS
SPORT DATE: 26.8.2015 1(10)
216 /8.4 M
(980104)
™
- 905850
Place the logo laterdll
MTOX3S
906637 (902232)
906577 ~ 907560 —=
IR ;o g
- 903543 %
906770 | .
900642
?5x35 //E///@
(980129) 906602 \
v s wedged during 10
installation. (98OW6W)




Copyright Lappset Group Ltd

% LAPPSET.

PRODUCT SIGN

SPORT DATE: 22.8.2017 1(2)
SHEET |PcCS 980114 |PCs
METAL T@ ]
118x78x0.7 | | @4x20 | |
B
1

g

i

Example installation !
Esimerkki asennus !

Example installation !
Esimerkki asennus !




Copyright 1998 Lappset Group Ltd

% LAPPSET.

PRODUCT SIGN

SPORT DATE: 22.8.2017 2(2)
Example installation !
Esimerkki asennus !
Example| ipstallation ! ®\
Esimerkki jasennus ! _

50

1o

50

1650

I

1650

Example installation !
Esimerkki asennus !




Copyright Lappset Group Ltd

% LAPPSET. FOOT

BETON FOUNDATION o

27.10.2015

(2) 905104 |pcs

)

M10






